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5. a) 		y = x -  or y = 		*	Rearrange the formula
			m = 					*	Read off gradient

	   b)		y = 0					*	Set y = 0
[image: ]			x = 6					*	Solve for x
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	10.	tan x = 					*	Rearrange the equation
		x = 0.98					*	Find x in the 1st quadrant
		x = 0.98°					*	Realise only available one, 
									answer with units
[image: ]
[bookmark: _GoBack]
image1.png
N5 Jan Prelim
Paper 1

X =3x + 35" —6x-3x+9
=x* —9x+9

2(x* =16) = 2(x + 4)(x - 4)

ADE =90°
DAB =56°
ABD =62°

Change to improper fractions
Correct product

3 terms correct in initial
expansion

Rest correct

Correct collection

Correct common factor
Correct diff of squares

Know right angle
Correct angle at centre
Final answer




image2.png
4 B

e Answer

o Isolate 3m?
o Isolate m’

oy





image3.png
(@ 5p+2c=20
()  3p+3c=16.50

() popeorn costs £3 each
Coke costs £2.50 each
Daisy pays £17

Use (a")" =
Final answer

Correct 1st equation
Correct 2nd equation

Attempts to solve sim equ
Finds 1% unknown

Finds 2" unknown

Finds final cost




image4.png
11

12.

2 +x =10
x* =50

x=+50

x=5V2

Whenp=0,x=0& 240
Max profit when x = 120
Profit = £72 000

Know to use pythagoras
Set up correct equation
Solve equation

simplify

Find where curve cuts x
axis

Knows symmetrical
property

Knows how to calculate
profit

Correct answer.




